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”‘]T’t 1. -F)T{Ji.ﬁ“? i 1= TFrd 7 ,_,,\}g';'{.“ ] J- 21 :’E-P H __%?)

t=public test/2.

i=mode test{=,=),

test{T1,T2):-write('Loop kaisuu. (< 1300007140000} '),read(Loop),
statisties(runtime,T1),for(I,Loop),
/% write('test '), ,write(I),nl, ®/
check(I, X}, /% I bamnme is 1 =-> X is 1 (ima, =1), else 0 %/
/% yrite('kekka ') ,write(X),nl, ¥/
next{I),statistica(runtime,T2).

r=mode check(+,-).
check(I,X):=J i3 I + 499, K is J/500, /® k banme no TERM ni ari ¥/
/% write(I),bl,write(J),bl,write(K}),nl, &/
bit(K,Llist),
Lis ¥ -1, Mis L * 500, N is I - M, /% Llist no N bit me ®/
JJ iz N + 9, KK is JJ/10, /® EX bamnme no atom ni ari %/
/® write(L),bl,write(M),bl,write(N),bl write(JJ),bl,write(KK),nl, */
arg(KK,Llist,Atom),
LL iz KK - 1, MM i= LL®™10, KN¥ ias N - MM, /% Atom no NN bit me ®/
Hidari iz 8+(NN-1),B is Atom << Hidari,
/% yrite{LL),bl,write(Hidari),nl, %/
X i3 B »>» 17,1,

i=mode for{-,+).

for{N,N).

for(M,N):- K ia N - 1,1,for{M,K).
:=mode nexti{+).

next(1}.

bl:-write("' ",

t=mode bit(+,-).

bit{'l bfs 5!5!5!5!5 I5I5!5!5!‘5!5 I5‘l5|5|5151515|5|5r5|5p5:515|5|5r5|5;
5:5151515,53:51915,5,51545:545+5,5.545,5)).

bit(2, b{5151515r51515r5r5:5:5:5:5-5r5r5:515|5|5|5r5|51515:515r5r595:
5,51515:5:5451545+515,5,5,5,5,5,5,5,5,5) ).

bit(3,b(5,5,5,5,5,5,5:5:5:5:5+51515+5:5:5+5+5,5,5,:5,5,5,5,5,5,5,5,5,
5:5 |5|5p5!515|5r5r5,5,5:5|5|5|5!51515!5]J

bit(4,b(5,5,5,5,5,5:5:5:5+5:5:5,5:15+15:5:5+5+5:5,5,5,5,5,5,5,5,5,5,5,
515r5I5t51515l5I5r51515 l5l5l‘5!5!515I5l5}]'

bit(5,b(5,5,5,5,5:5:5:5+5:5:5:5:5:5:5:5:5,5,5,5:5:5:5+5:5:45454545:5,
5,5,5,5,5,5,54545:5,5,5+5,5+5,5,5,5,5.5) ).
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(14% 2. Fruia% J-Lay-LF

A ) - 20zE (-27)

r=public test/2.

i-mode test(-,-).

test(T1,T2):=write( 'Loop kaisuu. (< 13000071
statisties(runtime,T1),for{I,Loop),
/% write{'test '},write(I),nl, #®/
check{I,X},
/% write( Ykekka ') write(X),nl,
next{I),statistics{runtime,T2).

&/

:=mode check{+,-).
check({I,X):=J is I + 499, K is J/500,
/% yrite(I),bl,write(J),bl,write(K),nl,
bit{Bit),
arg(K,Bit,Llist},
Lis K -1, Mis L # 500, N i=s I - M,
JJ is N + 9, EE i= JJ/10,

40000} '),read(Loop),

/% 1 barme iz 1 -->» X is 1 (ima, =1}, elae 0 ®/

/% k& banme no TERM ni ari #/
&y

/% Llist no N bit me ¥/

/®* EX barnme no atom ni ari #/

/* write(L),bl,write(M),bl,write(N),bl,write(JdJ),bl,write(EKK)},nl, */

arg(KE,Llist,Atom),

LL i3 KK - 1, MM i= LL®™10, NN i= N - MM,
Hidari is B8+(NN-1),B is Atom << Hidari,
/% yrite(LL),bl,write{Hidari), nl, #/

X iz B >>» 1T7,1.

i~mode for(-,+).

for(N,N).

fﬂ!‘fH,H}:- E ia KN - 1|||f0r{H|K}|
i—pmode next{+).

nexti{1).
bl:=-write{" ).
:=mode bit(=).
bit( bi(
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(15% 3. Prolog (2=7:4-yxb A ) v-202} (=)

i=public test/2.

;-mode test{-,-).

test{T1,T2):-write{ 'Loop kaisuu.
statisties(runtime,T1),for(I,Loop),
/% write('test '),write(I),nl, %/
check(I,X),
f® yrite{ 'kekks v),write{X),nl, %/
next(I),statistica(runtime,T2}.

:=mode check{+,-}.
check(I,X):=J is I + 499, K is J/500,
/% write(I),bl,write(J),bl,write(K),nl,
bit(K,Lliat),
Lis ¥ -1, Mis L ® 500, N is I - M,
JJ is N + 9, EK is JJ/10,

select{Llist,KK,Atom),
LL iz KK = 1,
Hidari- iz 8+(NN=1),B is Atom << Hidari,
/% write(LL),bl,write{Hidari),nl, #/

X is B »>» 17,!.

r=mode for({-,+).

for{N,N}.

for{M,N}:-= K 1a N - 1,1,for{M,K).
s=mode next(+).

next(1).
bl:=write(" ').
i=mode select{+,+,=-).
select([Ci_1,1,C):-1.

MM is LL®™10, NN is N - MM,

(< 130000°140000) '),read(Loop),

/% I banme iz 1 ==> X is 1 (ima, =-1), else 0 ¥/

/% k banme no LIST ni ari ®/
L

/% Llist no N bit me %/

J®* KK banme no atom ni ari #/
A ypite{L),bl,write(M),bl,write(N),bl,write(JJ),bl,write(EKK),nl,

&/

/% Atom no NN bit me ®/

select([_!D],B,C):~BM is B - 1,1,select({D,EM,C).

r—mode Bit(+,-).

bit(1,05,5,5+,5:5:515:5+5+5:5+5+545:5,5+545,5+5,5,5,5,5,5,5,5.5.,5.5,
5154545151515+5+54545+5,:5,5,5,5,5,5,5,51).

b1t(2,05,5,5:5:5:545:5:5:5:5:5:5:5154515+515+5:5:5:515:5:5:54545,:5,
5351515151515551515:515:5:545,54545,5,51).

bit{3l[SIE'ISlE1515l5r5!51515r5|5:-5:515|5r5,595;5;5¢5r5|5|5|5|51515r
5'5|5r5’5‘15|5|51515isl‘5l5?515 IEIEFEESFEI :I"'

bitfu;[iii.ﬁ |5 j5 15|5|5151515‘|5 p5 rE 1515[5!5!5r5l5 !E !5‘15 IE r515151515r
5151515151515:515154515,5+5:5,5+5,5.5,5]).

bit(5,[5,5,5:5+51515:545:5+515+545+545+54+5,5,5,5,5,5,5,5,5,5,5,5,5,
5151915:5:5+5:5+5+5:54+5,:5:5,5,5,5,5,5,51).
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(4% 4. Frolog zta gzt aAN D) y-2izk (~&p)

i=public test/2.

r=mode test{=,=).

test({T1,T2):=write( 'Loop kaisuu. (<= 50000) '},read(Loop),
statistics({runtime,T1)},for(I,Loop),
/% write('test '),write(I),nl, %/
check(I,X), /% I bapme is 1 --> X is 1 (ima, =1), else 0 %/
/* write{ "kekka '), write{X),nl, #/
next({I),atatistics{runtime,T2).

r=mode check(s,=).

check(I,X):=J is I + 4949, K ia J/500, /% k barme no LIST ni ari ®/
/% write(I),bl,write(J),bl,write(K),nl, ®/
bit{Bit}),
select{Bit,K,Llist},
Lis¥K -1, Mis L ® 500, Nis I - M, /% Lliat no N bit me #/
JJ is N + 9, KK is JJA10, /®* EE barme no atom ni ari ®/

/% write(L),bl,write{M),bl,write(N),bl,write(JJ),bl,write(KK),nl, */
select{Llist,KK, Atom),

LL is KK ~ 1, MM is LL®10, NN is N - MM, /% Atom no NN bit me %/
Hidari iz 8+(NN-1),B is Atom << Hidari,

/* write(LL),bl,write(Hidari),nl, %/

X is B »>» 17,!.

:=mode for{-,+).

for{N,N).

for(M,N):= £ is N - 1,1,for(M,K).
:-mode next(+).

next(1).

bl:=write(" L

rmmode select(+,+,=).

select{[Ci_],1,C):=1I.

select{[_ID],B,C):-BM 18 B - 1,1,select(D,BM,C}.

s=mode bit{-).

bit{ [
[5,5:515:5+5:5154545:5:5+5+1545+5,5+5:5+5,5,5,5,5,5,5,5,5,5,5,
SIE'IS‘IS[S|5#5:515‘15|5|5|5|5p5!5r515|5|5] ¥
[515|5‘15r5rs151515|5|5|5|5l5r5!5!515l5t5151515r5r5p5:5‘|5p5,5,
5:515:9:5:919:51545:5:15:5451515:5:5,5,5],
(5+515:5:51555151515151515+51515:54545451515151515,5:545,545,
5l5:5r5|5:5:51515:5.-5:5|5r5|515;515:515] ]
[54515151515,5151515+51515+545:5:5454545,5,5:5,5,5:5+5+5+5,45,
5t515t5I5I5f5!5 l5‘l5l5'l5!5l5l5!515151515] r
[5’5"5'5rE15!5*5‘!5[515l5l5ISISl5SE!SIEIE!E!E‘JEI5l‘5!‘5l5I5l5l5l
545154515:5:5:5:545,5,5+5+5,5,5,5,5,5,5],
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A3 5. Portvar v-zyzt

95

100
20

199

200
1000

G900

100

dimension ibit(10000)
do 10 i= 1,10000
ibit(i)=0

go to 1

do 200 1 = 1,10

write(5,99)

format{1h ,3h=et)
read(5,100) j

farmat{i6)

call setbit(ibit, j)

write(5,199)

format{17h check({<= 3I50000))
read(5,100}4

read(5,100) imax

eall time(x,y)
write(5,900) x,¥

do 1000 ii=1,;imax
x=ran{C} ® 350000.0

i=x

i=ii

iff{i .le. 0) i=1

if(i ,.ge. 350000) 1=350000
call refbit{ibit,i,J)
write(5,200) 1
write(5,200) J
format{1h ,i10}

continue

Eo to 1

call time(x,¥)
write(5,900) =,y
fermat{1h ,2a)

atop
end

subroutine setbit(ibit,i)
dimension ibit{10000)
k={i+34)/35

l=ibit(k)

kk=1-(k-1)%35

m=0

if (kk .ne. 1) m=(1/(2%#(35-kk+1))) ® (2%#(35-kk+1))
n=mod(l,(2®8{35_kk)))
ibit(k)=m+n+288(35-kk)
write(&,100) i,k,1,kk,m,n,ibit(k)
format{ih ,2i8,0,1i,30)
return

end

subroutine refbit(ibit,i,j)
dimension ibit{10000)
k=(4+34)/35

l=ibit{k)
k=i-(k-1)%35
J=l/{2%%{36=k) )

J=mod( j,2)

return

end

J0 /e



